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PRE UPPER PRIMARY SCHOLARSHIP EXAMINATION (Std. Sth), FEBRUARY 2025
Seat No.
Set
Paper No. 11
Time : 02:00 to 03:30 Medium : English

 Total Marks : 150 Third Language and Intelligence Test Pages: 16 )

Read the following instructions carefully before you answer the questions.

(H This question paper contains two sections. In Section I there are 1 to 25 questions of Third
Language and in Section II there are 26 to 75 questions of Intelligence Test. All 75 questions are
compulsory.

2) All questions carry 2 marks each.

3) Time limit to solve the question paper is 90 minutes.

(4) Separate answer sheet is given to record the answers. Each question has been given four
alternatives. Read them carefully. Select and darken the correct answer in the answer sheet.

For Example :- If the correct alternative for Q. No. 6 is 2, then record your answer as follows :
Question No. 6 - @ ‘ @ @

(5)  Answer recorded in any other form will not be considered. Such answer will be credited with
‘Zero’ mark. @ @ @ @

(6) Use blue or black ball pen to darken the circle. Circles darkened by pencil will not be credited.

(7) If more than one circles are darkened or overwriting is done, the answer will not be accepted.

(8) Answer once recorded can not be changed.

9) The rough work is to be done in the space given under each page or on the last page of the
question paper.

(10)  The exam has limited time, in case you are not able to solve a question, kindly solve the next
question. In the end if time permits you can try to solve the unsolved questions.

(11)  If incomplete or wrong question found in a question paper, you are not permitted to ask the same
to Supervisor or Centre Incharge.

(12)  School or parents should not send written application to Block Education Officer or Education
Officer for any error, mistake or objection issues. These error / mistake / objection issues should
be registered online through respective school login only.

(13)  The error / mistake / objection issues should be registered online within 10 - days from the
publication of Interim answer key on MSCE website.

(14)  Suggestion and decision of expert committee will be applicable on printing or any other mistake

in question paper.
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01.

02.

03.

04.

0s.

06.

07.

TSt
I TSI T 978 -
(1) e’ (2) & (3) = (4) e
foegreff wregr=i 3T Sl hIvT ?
(1) Trhear X T (2) WX X "
(3) T X 3 (4) v x ol
75 Y qUl SeATat IS BRI HElcad -
(1) gl 2) U= (3) I (4) o=
‘Tg’ 91 veern Y A T8, ITET AT iU ?
(1) Toem (2) S (3) ®mE (4) 48
O Grenel a8 Wi " (AT SrevregrEn v fHaer.)
(1) w&er (2) UTTe (3) TS (4) TEe

‘I T Y H A AT TAR FIOT=AT ALYl Ieqreiics Trerel HER hIvld ?
(1) & 2 = 3) = 4) 2

Ye fecien arerIdial shivTea arerTd AT 3Tt Tat ?
(1) N TSt 39T, (2) AU T I,
(3) T TR U (4) 3T MO TR,

HeedT HIHTHTST Word
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08.

09.

10.

11.

12.

13.

fedte areTdia s1amfgd wse= o fiesEr.
AT BIATE e G 9 e .

(1) Y@ (2) wifem
(3) dfeam (4) 3wt
fectean faamndia fspamie st

TR debt eft Tt gud .

(1) A&t (2) T
(3) guda (4) uaft
qeterehl fHfeauul Tehaert A Shivrd ?

(1) =hrel 2) W 3) e
Je feoien hivren areRm=an gt quiforrd J5e ?

(1) M d1ET, HUS ATHE 61

(2) T IHIURIUT HeAl SIS

(3) RN T T F

(4) TIEHT YT fohdl T93 AT T T8

(1) wfes (2) gd

(3) i (4) &4
‘G TR’ I Shierd= hdl hIvT AT ?

(1) s e (2) fepuT wTesh
(3) W fereurent 4) e Fda

(4) &

HeeHT HIHTHTST Word
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1o

T - 14 @ 16 ATET FIAT -

= ATy ST eI Hesdrd. Yoo dd e §9 Jgad T8d. =

AHATIHTO Ed ES{laT 3TedT fIehrEmETdl SU=T gidl. df e sTaet gaea grofiems=n
TETA LAl I T S quid: THETa STaeied 378, IHeddt hed, Fot, FHar=mardt amehe,
I[G A1 Taed o5 R 3= HBIET HLEUHTS! Fract! gl ¢ard. ueht aeae, Sl

AThSTETS AT TEI!, FHIASTHTS! HTIH UK TUeh, TG, W T SHAUAHIET 39T &7 =1

THIUE SUATEET ATehe QUM=AT I9€9dI= 3T9dTd.

FAEIATSHTUE JTOAT=TE HIOETAT GY 9 Bal. S g9, HiE, Sl JERE 9ae,

TEGehETS! ITANT TSUR WUl & Tehall oI SEqyg] STUATIEd fHesdtd. Hggdia 94,
@i fhar Hie FgT Aavasha IR, IHd @ Had Feiiar st $aadl. Ter<n JaTs

TGy = 3.

14, Iq=aTcie JUHTIHR g1 Ifgehtona Jeletdchl vt fHehT HEwaTe! 31Tg ¢
(1) =1 (2) wH
(3) T=n (4) AWE

15.

16.

FUS TIN HOITHE! AT FUHTIHR SHT= STANT Blal ?
(1) STSr= At (2) el A
(3) hYE (4) hrast

AT FUHTTER T FS(iar=dT SHa-aHTeR TROMH o STe Hivrd] 7

(1) == (2) w45
(3) =R (4) "

HeedT HIHTHTST Word
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99 - 17 9 19 918t Foqr : -

17.

18.

BT e AT 0T =
JATAT ST e H 9 oy
TST=AT HILATER Y= 3
BT SRl THehIaest qu
JTTATE UTeAet WS 3T AT

TH HIET I T3 A

heB=AT T Hgel X
AT 9T, IeHecA= gL

TiUesT=a I Ao AT qe3d

foes= 99 @ TIER g3d
T et TR ST Hdrd
Ulesciel U e ISR BT,

STGSIER 9T 3T JodehTd ST

I =t =1 TSavft S

il SLRTHHR G Hie fikad 1R ?

(1) SER (2) HiGr=AT ZrehTaR

(3) MR (4) ST TSR

SITUI T <hIUTeAT THTAT A< 3718 ?
(1) fiveren (2) sHeT=
(3) Ferem (4) e

HeeHT HIHTHTST Word
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19.

20.

21.

22.

23.

24,

25.

SHicddiel IUHTHER 3 faem™ o ?
(1) uHT= Araeta R fasmdt e,
(2) YR 9 9IS e,

(3) T um TER FHam.

(4) dMe3= M ATd AHdATd.

“PIcaT RS sl A1 Tgoi= 31 Fm et
(1) Y3 THTd = Fgad ATal.

(2) STSTUITA AT TEH HIA hedd ATal.

(3) freanft A gafn areg g

(4) gooTeh & TTHH T Al G BT

9e fociean arargdiand! Jr arspy=me fag .
=T ST fAfTad et AE WAt ST T e et
IcHTETeR .

(1) dft (2) UIOATd UIEW (3) 9Toft uTerer (4) doft g0
1ot 9 = T I S A S ?

() fEe-T@ () g9 -T& (3) W - efl  (4) IR - i
T St I wgesish weg wAETqd fHaE.

‘Tt Shed M Adsh=a e @t Tadr=h el

(1) e (2) SRt (3) TS (4) a8
eqfesieh Yeard ST YT hIvTdT ?

(1) S - Yoy (2) EE - HEFEES

(3) UHREI - HBUS (4) wTTSAEN - GEGH

‘= 91 el A gaEeff wee faer:
(1) ™= 2) 3) fta 4) gm

HeedT HIHTHTST Word
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A B CDE

F G H I

K LMNDO

PQRST

UV WwWXY

26.

SECTION - II

INTELLIGENCE TEST

(1)

2)

Q. 27 and Q. 28 Direction :
Select the mirror image of each of the following question figure from the alternatives given.

27.  Question Figure:

3)

The net of a cube-shaped dice is given
alongside. If a dice is made by folding this
net, which of the following shape will it

definitely not resemble?

4

Answer Figures:

295

G6¢

oS

¢S

ceS

(1) () 3) 4)
28.  Question Figure: Answer Figures:
) 2) (3) 4)
SPACE FOR ROUGH WORK
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Q. 29 and Q. 30 Direction:
Select the water image of each of the following question figure from the alternatives given.

ABCDE|F GHTIJ|IKLMNO|PQRS ST|UVWXY

29.  Question Figure: Answer Figures :
L |A O|b ||IO|b||©|P]O|b
olPp LIvVir|ivl|r|Vi|rlni|v
T (1) 2) (3) )
30.  Question Figure: Answer Figures:
671 1L9)0d]@A[|67]
au (1) @) (3) (4)

Q. 31 to Q. 35 Direction:

In the following questions the first and second term have a specific relation between them. The same
relationship exists between the third and the fourth term. Find the correct alternative to replace the

question mark.

31.  Devrai : Maharashtra : : Sharanvan : ?
(1) Rajsthan (2) Madhy Pradesh
(3) Gujrat (4) Uttar Pradesh

()
e

SPACE FOR ROUGH WORK
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166
3s. i . Q .. i .7
9 . 14 . . 7 . .
14 12 11 18
= @ 1T 3 1 @ 1T
Q. 36 and Q. 37 Direction :
Select the identical figure to the question figure from the options.
36. Question Figure: Answer Figures:
(1) ) 3) “)
37.  Question Figure: Answer Figures:

S SN\ /ON/ BN/ B

SPACE FOR ROUGH WORK
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ABCDE|F GHTIJ|IKLMNO|PQRS ST|UVWXY

38.

39.

40.

41.

42.

43.

In a row Salim is at the centre and his position is 12, Ankita is standing at the 8™ position
from the right side. What is her position from the left side in the same row?

(1) gt (2) 16t (3) 15t (4) 7t

There are total 80 flowering plants. Rose, Mogra, Lily, Periwinkle and Marigold are planted
in a serial order then which of the following indicates the position of lily plant?

(1) 68 (2) 45 (3) 52 4) 24

Arnold is facing to rising sun. He turns to his left side at 45° two times, then find his left side
direction.

(1) North-east (2) South

N.
(3) West (4) South-east %

Sukhvinder started walking from A place to B place as per the following figure. How many
times his left hand will point towards east direction?

A
NO
B

(I 8 2 3 (3) 6 “ 4

In 2022, Balika Din was celebrated on Monday. In the same year which day occurs on
Education day?

(1) Sunday (2) Friday (3) Thursday (4) Saturday
In the given venn diagram the number of students
4 who play Kho-Kho are shown in triangle, those who
6 play carrom are shown in rectangle and those who
5

play Langadi are shown in Circle.

Number of students playing Langadi is more or less than number of students playing carrom
by how much?

(1) moreby 8 (2) more by 5 (3) lessby8 (4) lessbyo6

SPACE FOR ROUGH WORK
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ABCDE|F GHTIJ|KLMNO|PQRST|UVWXY

44. Identify the pattern and select the correct option to replace the question mark.

1 2 2 3 3 4 4 5
24 48 80 ?
4 3 5 4 6 ) 7 6
(1) 110 2) 121 3) 120 (4) 101
45.  Identify the pattern and select the correct option to replace the
question Mark. w

aNEA
(1) )
xE T o

Q. 46 to Q. 50 Direction :

A set of terms is given at the beginning of the question. These terms have some common

characteristic. Find out the term from the alternatives that matches the given set of terms.

46. Mars, Venus, Jupiter,

(1) Satellite (2) Moon (3) Saturn (4) Star
47.  Amoeba, Earthworm, Cockroach,
(1) Lizard (2) Snake Crow (4) Snail
48. 2 %
(1) “4)
49. (73,71),(61,59), (31, 29),
(1) (19,17) (2) (23,21 (3) (41,39 4 (31,33)

SPACE FOR ROUGH WORK
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ABCDE|F GHTIJ|IKLMNO|PQRS ST|UVWXY

50.

S1.

S52.

28,10, 91,

(1 12 2) 78 3) 54 4) 87
In a certain code language if 723 =6, 392 =9, 418 = 5, then 235 =?

1 3 (2) 2 3 5 @4 7

In a certain code language if TALE = 4572, SAFE = 6052 and NOTE = 5731, then SLATE = ?
(Note : Letters and numerals are not in order.)
(1) 30275 (2) 46075 (3) 64275 (4) 40635

Q. 53 and Q. 54 Direction :
Observe the table of numbers and symbols and answer the questions given below.

53.

54.

55.

56.

Numbers 5 3 8 0 6 2
Symbol X /\ [ @ # ]

® plus # divide [ | minus @ =?
1 [ (2) # 3 ® 4 @

Using the given digits only once, which group of symbols will represent the smallest six
digit number?

1) @A AQ+#e Q) @ /A\Qe#
3 e /AQ+e @ @A \+4Qe

During drawing period if water is spilt on your drawing due to your mistake then what will
you do?

(1) TIwillcry.

(2) I'will lie to the teacher that my friend has spilt the water.

(3) I will start new drawing again.

(4) Iwill blame my friend.

While following government rules during Corona Pandemic, whose action is incorrect?

(1) Parnika Sanitizes all the things which are brought at home from outside.

(2) Krushna follows social distancing when he stands at crowded place.

(3) Vaibhav doesn't leave house unnecessary.

(4) Vidya uses her mask while going outside. But after returning home she moves around
in the house without washing her hands and legs.

SPACE FOR ROUGH WORK
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ABCDE|F GHTIJ|KLMNO|PQRST|UVWXY

57.

S8.

59.

60.

| V.SSRVRMGV.RSMV |
In the above letter series, which letter has occured maximum number of times?
() R (2) M 3 Vv 4) S

Arrange the letters ‘O, G, T, U, N, E’ to make a meaningful word. Which letter will be at
fourth place from the right?

I G (2) N 3 U @4 T

| 52, 41, 74, 63, 18, 94, 35, 46 |
By interchanging the digits of the numbers in the above number series how many odd square
numbers will be formed?

(1 3 2 3 3 6 “4) 4

(_ ABCDE FGHIJ KLMNO PQRST UVWXY )

Which letter will be at the middle position in the meaningful word formed by taking letters
at the 12th, 18 and 215t position from the right side in the given alphabetical series?

() E 2 L 3 H 4 N

Q. 61 to Q. 65 Direction :

61.

62.

63.

Select the odd term.

(1) Flock (2) Bunch (3) Dozen (4) Group
(1) Mumbai (2) Kolkata (3) Jaipur (4) Nagpur
(1) (2) 3) 4)

SPACE FOR ROUGH WORK
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ABCDE|F GHTIJ|IKLMNO|PQRS ST|UVWXY

64.

65.

66.

67.

68.

69.

(1) 2 (3) (4)

3) (4) 2313

Select the correct alternative to replace the question mark in the given number series.
6, 13, 32, 69, 130, ?
(1) 348 (2) 734 (3) 221 4) 517

&
&
&

(1) 4415 (2)

N
\e]
[e)
N
(98]
[\
N
B~

In the given figures there is a specific order. Observe the order and find out the figure to
replace the question mark.

9

AN )

9
°~

(1 (2) 3) 4
Which group of symbols will occur at the place of question marks in the given series of
symbols?
<+>20>A?7<+0O<?7>A?2>A0<A?2<+>
(1) A<++0 2) AO0++0O 3) +><A0O 4) O<>A+

Find the wrong term in the given number series.
117,161,207, 253,299
(1) 253 (2) 1lel 3) 117 4 299

SPACE FOR ROUGH WORK
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ABCDE|F GHTIJ|KLMNO|PQRST|UVWXY

70.

71.

72.

73.

74.

75.

Find the wrong term in the given number series.
170, 178, 194, 206, 218
(1) 218 2) 178 (3) 194 (4) 206

Seema is older than Reema by 7 years. Sum of their today's ages is 53 years. What will be
seema's age after six years?

(1) 36 years (2) 30years (3) 29 years (4) 34 years

Ananya is taller than Akanksha but shorter than Anushka. Anushka is shorter than Arya and
taller than Ananya. Who is the tallest among them?

(1) Anushka (2) Arya (3) Ananya (4) Akanksha

Manav has 5 maternal aunts and 4 maternal uncles. One of his maternal aunt is a teacher. The
maternal aunt who is a teacher has how many sisters and brothers respectively?

(1) 6and4 (2) 4and>5 (3) S5and4 (4) 4and6

Find the number of triangles in the given figure.

(H 11
(2) 14
3) 12
4 13
Find the total number of squares in the given figure.
(1) 10
(2) 13
3) 14
4) 12

SPACE FOR ROUGH WORK
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